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QUESTION 1

Refer the exhibit. 

A new app is being developed. Users need to see: 

Total sales for each customer 

Total sales for given state 

Customers that have not had any sales 

Names of salesperson and regional manager 

Total number of sales by date 

The data architect constructs several data models and tests the validity of each model. 

Which two data models meet these requirements? (Choose two.) 

A. 

The data architect aliases the MrgID field to RegionalAcctMgrID and the CustID field in the Customers table. 
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B. 

The data architect loads two copies of the Employees table, aliases the appropriate fields, and aliases the CustID field
when loading the Customers table. 

C. 

The data architect performs two Left Joins to the Sales table to get the Employee names and loads the Customers table
aliasing the CustID field. 
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D. 

The data architect performs three Left Joins to load the Customer and Employee data fields into the Sales table. 

Correct Answer: BD 

 

QUESTION 2

Payroll managers need access to the payroll system to complete a quarterly report. A username and password is
required to access the payroll system through an ODBC connection. Only the system administrator should have access
to the credentials and make updates as needed. Each payroll manager who access the app should only see their own
employees. 

Which two actions are required to set up the appropriate security? (Choose two.) 

A. Make sure that the administrator creates appropriate sync rules to access the payroll system 

B. Apply the correct section access to restrict data visibility 

C. Make sure that the administrator applies security rules to the correct stream to restrict data visibility 

D. Apply security rules to the app to restrict data visibility 

E. Make sure that the administrator applies the correct security rules to the ODBC connection 

Correct Answer: BE 

 

QUESTION 3
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A data architect has a QVD file that contains data from many countries. The data architect must write a script that loads
only data from France, and make sure the reload occurs as fast as possible. 

Which script should the data architect use to meet these requirements? 

A. B. C. 

D. 

Correct Answer: A 

 

QUESTION 4

The dates are stored as strings in the database. The data architect must convert the dates to date format. The reload
must be as fast as possible. 

Which script should the data architect use? 

A. 
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B. C. D. 

Correct Answer: B 

 

QUESTION 5

Refer to the exhibit. 

A fashion retail company needs to analyze data product inventory. The company needs to filter by attributes by such as
color, material, and size. 

Which strategy should a data architect use to meet these requirements? 

A. Turn data rows into fields by using a generic load 

B. Use the hierarchy load statement to expand hierarchy levels 

C. Use crosstable in the load statement to unpivot 

D. Loop through the table to transpose fields 

Correct Answer: A 
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